SOLVING
NON-RIGHT
TRIANGLES

YOU SHOULD KNOW...

Solving a triangle means finding
all sides and angles.

The Laws of Sines and Cosines
work for all triangles - not just
right triangles.




BASEBALL APPLICATION

During a baseball game an outfielder caught a ball hit to dead center
field, 400 feet from home plate. If the distance from home plate to
first base is 90 feet, how far does the outfielder have to throw the ball

to get it to first base?

THE
LAW OF
COSINES
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LAW OF COSINES

e a2=Dp2 + ¢2 - 2bcCosA
e b2=3a2+ ¢2 - 2acCosB
B e c2=a2+ b2 - 2abCosC
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EX. 1: FIND ALL THE ANGLES.
a=8ft,b=19ft,andc =14 ft
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EX. 2: FIND THE MISSING MEASURES.
A=115°b=15¢cm,and ¢c=10cm
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